**PR Number:** GF-2025-02-00203

**PPMP Number:** PPMP-2025-021725-0972

Office: PO

**Purpose:** FOR OFFICE USE

| No. | Item Name                                  | Quantity | Quarter | MOP                        | Status                                                                                                                                                                                                                                                                                                                                       |
|-----|--------------------------------------------|----------|---------|----------------------------|----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|
| 1   | Alcohol, Isopropyl, 70%<br>solution, 500mL | 10       | 3       | Competitive<br>Bidding     | PO #: VSU-GOODS-25-29-104 (GF) Bid Price: 98.00 Quantity: 10 Total Cost: 980.00 PO Amount: 563,087.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-101101-2025-07-03280  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB                       |
| 2   | Bundy Clock                                | 1        | 3       | Small Value<br>Procurement | Bidding Status: DRAFT  PO #: PO-GF-MOOE-2025-04-0241 Bid Price: 9,890.00 Quantity: 1 Total Cost: 9,890.00 PO Amount: 10,120.00 Obligation Number: Supplier: NOLAS COMMERCIAL Status: FOR APPROVAL                                                                                                                                            |
| 3   | Bundy Clock Time Card                      | 1        | 3       | Small Value<br>Procurement | PO #: PO-GF-MOOE-2025-04-0241 Bid Price: 230.00 Quantity: 1 Total Cost: 230.00 PO Amount: 10,120.00 Obligation Number: Supplier: NOLAS COMMERCIAL Status: FOR APPROVAL                                                                                                                                                                       |
| 4   | Floor Mop                                  | 3        | 3       | Competitive<br>Bidding     | PO #: VSU-GOODS-25-29-104 (GF) Bid Price: 280.00 Quantity: 3 Total Cost: 840.00 PO Amount: 563,087.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-101101-2025-07-03280  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT |

| No. | Item Name                                               | Quantity | Quarter | MOP                    | Status                                                                                                                                                                                                                                                                                                                                          |
|-----|---------------------------------------------------------|----------|---------|------------------------|-------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|
| 5   | Folder, File, Long,<br>14pts, White                     | 250      | 3       | Competitive<br>Bidding | PO #: VSU-GOODS-25-29-096 (GF) Bid Price: 9.00 Quantity: 250 Total Cost: 2,250.00 PO Amount: 421,690.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-101101-2025-07-03336  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT                          |
| 6   | Glue, Multi-Purpose,<br>White, at least 130g<br>(118mL) | 10       | 3       | Competitive<br>Bidding | PO #: VSU-GOODS-25-29-096 (GF) Bid Price: 88.00 Quantity: 10 Total Cost: 880.00 PO Amount: 421,690.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-101101-2025-07-03336  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT                            |
| 7   | Masking Tape, 1"                                        | 3        | 3       | Competitive<br>Bidding | PO #: VSU-GOODS-25-29-096 (GF) Bid Price: 58.00 Quantity: 3 Total Cost: 174.00 PO Amount: 421,690.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-101101-2025-07-03336  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT                             |
| 8   | Paper, Bond, Long, S-24,<br>80 gsm                      | 25       | 3       | Competitive<br>Bidding | PO #: VSU-GOODS-25-29-104 (GF) Bid Price: 270.00 Quantity: 25 Total Cost: 6,750.00 PO Amount: 563,087.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-101101-2025-07-03280  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT |

| No. | Item Name                                    | Quantity | Quarter | МОР                    | Status                                                                                                                                                                                                                                                                                                                                          |
|-----|----------------------------------------------|----------|---------|------------------------|-------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|
| 9   | Paper, Bond, Short,<br>S-24, 80 gsm          | 25       | 3       | Competitive<br>Bidding | PO #: VSU-GOODS-25-29-104 (GF) Bid Price: 220.00 Quantity: 25 Total Cost: 5,500.00 PO Amount: 563,087.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-101101-2025-07-03280  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT |
| 10  | Ring Binder, plastic,<br>22mm, 7/8" black    | 10       | 3       | Competitive<br>Bidding | PO #: VSU-GOODS-25-29-104 (GF) Bid Price: 26.00 Quantity: 10 Total Cost: 260.00 PO Amount: 563,087.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-101101-2025-07-03280  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT    |
| 11  | Ring Binder, plastic,<br>38mm , 1-1/2" black | 10       | 3       | Competitive<br>Bidding | PO #: VSU-GOODS-25-29-096 (GF) Bid Price: 48.00 Quantity: 10 Total Cost: 480.00 PO Amount: 421,690.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-101101-2025-07-03336  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT                            |
| 12  | Rubber band                                  | 5        | 3       | Competitive<br>Bidding | PO #: VSU-GOODS-25-29-096 (GF) Bid Price: 30.00 Quantity: 5 Total Cost: 150.00 PO Amount: 421,690.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-101101-2025-07-03336  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT                             |

| No. | Item Name                                                   | Quantity | Quarter | MOP                    | Status                                                                                                                                                                                                                                                                                                               |
|-----|-------------------------------------------------------------|----------|---------|------------------------|----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|
| 13  | Toilet Bowl Cleaner /<br>Urinal Cleaner, at least<br>500 mL | 5        | 3       | Competitive<br>Bidding | PO #: VSU-GOODS-25-29-096 (GF) Bid Price: 125.00 Quantity: 5 Total Cost: 625.00 PO Amount: 421,690.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-101101-2025-07-03336  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT |